Skupina A - mali
1. Modra A
2. Stupava C
3. SKPB
4., Senec
5. Rohoznik B
Vvlosovanie zapasov :
A B A B  [vysledok

1. |Stupava C - Rohoznik B
2. |SKPB - Senec
3. |RohoznikB - SKPB
4. |Modra A - Stupava C
5. |[SKPB - Modra A
6. |Senec - Rohoznik B
7. |Modra A - Senec
8. |StupavaC - SKPB
9. |[Senec - Stupava C
10. |[Rohoznik B - Modra A
Tabulka A

g 1 2 3 4 5 ,

Modra A | Stupava C SKP B Senec | RohomikB| BODY SKORE S

1 K 1:6 4:3 0:7 3:9 2 8:25 4.
Modra A

2 6:1 P 5:3 3:2 8:3 8 22:9 1.
Stupava C
3  ske| 34 3:5 B 0:8 1:8 0 7:25 5,

B

4 7:0 2:3 8:0 A 5:0 6 22:3 2.

Senec
5 9:3 3:8 8:1 0:5 4 20:17 3.

Rohoznik B







